10.

11.

Combining Like Terms Worksheet

. Simplify: 3x + 5z

. Simplify: Ty — 2y + 4y

. Combine like terms: 4a 4+ 2b — 3a + 5b
. Simplify: 6x — 2z + 3y — y

. Simplify the expression: 9m + 3n —2m +

4n

. Combine like terms: 5p + 3¢ + 2p — 7q

Simplify: 8a — 3b+4a + b

. Combine like terms: 6x2 + 3z — 222+ 7z

. Simplify: 4y +6 — 2y + 3

Combine like terms: 12m — Tn + 4m +

2n — 3m

Simplify: 5z 4+ 3+ 7z — 8
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17.

18.
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20.

Simplify the polynomial: 222 + 3z 4 22 —
4x

Combine like terms: 6a2+4b—2a2+8h—
3b

Simplify: 7z +4y —x +2y —5

Combine and simplify: 3a%b+2ab®—a?b+
4ab?

Simplify: 922 — 3z + 22 — 522

Simplify: 5p +3 —2p+4p — 6

Combine like terms: 2z +3y+4z—y+7
Simplify: 4a® + 6a — 3a + 5

Combine like terms: 7m2 — 4m + 3m —

2m2 +1



10.

Solutions to Combining Like Terms Worksheet

. 3z + 5T = 8x

Ty —2y+4y =9y
.da+2b—-3a+5b=a+7b

.6 —2x+3y—y=4x+ 2y

.9 +3n—-2m+4n="Tm+Tn

.Op4+3¢+2p—Tqg="Tp—4q

8a—3b+4a+b=12a — 2b

. 622 4+ 31z — 222 + Tx = 422 + 10z

LAy +6—-2y+3=2y+9

12m — T +4m + 2n — 3m = 13m — 5n
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13.
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15.

16.

17.

18.

19.

20.

.hr+34T7r—8=12x -5

202 +3x + 2?2 —dx =322 — 2

6a® + 4b — 2a* + 8b — 3b = 4a® + 9b
Tcr4+4y—z+2y—5=6x+6y—>5
3a%b 4 2ab® — a?b + 4ab® = 2a°b + 6ab?
922 — 3z + 20 — 5a? = 42? — x
p+3—2p+4p—-6=Tp—3

20 +3y+4drx —y+T7=6x+2y+7
4a® +6a —3a +5=4a>+3a+5

™Tm2 —4dm+3m—2m2+1=5m2—m+1



